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Assume thata = 6, b = 4, and ¢ = 3.

lZ/.Q_,I '.Q,z
6{%\)‘657 ', I
Q CQWVLX\] N A N Se b (J“”“”é@)
@ (u{‘%\,;l'ﬂ _Hr\ﬁ\_\ dvyen \N(’t X Q(Z\i_]\)eéq?()*
=4\l onglie ave = = RETS I
oyt Wi Sinlav A o twe plared
o R C _€\ayc ‘2 (s 'Q)\ K32




b-Sule 4 Sebimbr wesvell

) 3 )
& <l“’ ?&}&K > g \ - DX ¥ A g\y = X- X —\—?% )
,5 -3 _}
C\’\("QL - .}1 2 }_}
O w=i-x @ B nd§ =3 -3 E -3 -3 - “7\}
Q= —\ dx Y==3=) W= \- (D =Y =3-9+9 — (-3 —ﬁ/ﬁ>
=)D w=\-37 ~¢ +) €8 = 6+18 T O
- N X=3 2 w=\ 3 +3
N -3 9‘9
§ > - +3 — bt i
U\“Ol!/\: ~ L duw = - - T2 1 ==\ = T o 2
\g g.,[a 3 Y 3 ( BB

4






	Untitled
	Untitled
	Untitled
	Untitled

